T A A(3,-1),B(a,-3) ol tHste] AB =2 wf, ¢ 9] Zh-2 FF51H?

@1 @ 2 ® 3 @ 4 ® 5



2. FHAG,2), Bla b)E1

= A : 30® YEske Ha P(2, 1) o2kl
<o, ab O 327

@ 2 @ 3 ® 4 @ 5



A4 S 42 = 10]x &,y FI Wb 4 47 A B e sht AE
AB o] S0l (2, 3) & W, a+ b 9] FH2?

@ 6 @7 ® 8 @ 9 ® 10



4. FHHax-y+3=04x+2y+ (1-b) = 0°] LA ©f, ab 2
a7

D -14 @ -7 ®1 @7 ® 14



5.

A (4,5) & A4 3x -4y -2 =0 Ao o] A E FoHH?

® -1 @ 0 ®1 @ 2 ® 3



@ x=1 @y=1 ®@y=x+1

1
@y:—gx—l—f ®y=2x-1
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(o) e]

88 U242 = 17 Ay - 2ot kb AR WA ¢
k o] @to] W91E THs BAeltk. (7h), (1), (h o So

Ag n2H

z

o}
=

1o
=

15

5l g
=

21y =10
y=2x+k---©O

O= Ol "dste] A2 A2std
5x2 + 4kx+k>-1=0---©

@} ©°] A=z ThtA] ¢hoeH
D= (4k)? —4-5-(k* - 1)

(7)o
()5 ()
@ (7h>, (i<, (H=V5<k< V5
@ (7h:=, (H):=, (k=5
® (7h:>, (W<, (FH=V5<k< V5
@ (7H:>, (B>, (Hik> V5 E=k< -5
® (Fh:<, (B>, (Hik> V6 B k< -5

m,

o
—



10.

g +y? =594 (1, 2) ollMl A

D x+y=3 @ 2x-y=0

@ 2x+y=4 ® x+2y=5



11.

Fhols (x, y) = (x+a, y+4) ol &5t A2, 1)l A (1, b) =
SAXA W, a+ b 9 FH2?

@® -3 @ -1 ® 2 @ 4 ® 5



